





TON] SINVLAINSNGOD ONIaTINg "M'd 2202

€186 'ON Ansibsy Idgd SNOISIATY
L6L6°6S9°CL8 'ON 8uoyd F -
S6SEE 14 ‘OOMIDA ‘OSZ X8 ‘O'd \Su SNOILdO T3INVd A8 ¥ LN NBE @ o=
“ONI *SINVLINSNOD ONIaTINg @ IGNISSY J0 Luvd o= [%|= LS8
Wi, ¥00a SSY19¥38l e 23 |m)
™ J(ZO\Q\\\ 60bCH ‘ON 'I'd ¥ &l &g |
o) Aoﬁoﬂm.@ \\\\ WiuYRs "4 uopuhy SNOS ® S3A3LS g w_ $|<IET |
”&... .... Y- :Ag poiodald sjuswinoocg :L0NA0¥d HEIRE W &
; ~%=  woristhew
X ¥ R
3 6OVEYON ¢ = \
2N s S
L A RONES
(7 Q\s.m.w N
\\\\ Io ////
Hipgpany

X
3/4 OVAL

1/2 LITE
w/ MICROBLINDS

=
TR S
-~ [
- N O
u
" - o)
O
=
E | | & g
< W
[ | | = &
| —( 2
x s
] 1 2
@)
| 1 =
X =z
[ <

Bmpz L LrLy-14\0202) LLpLy-TH\sBumMEIQ - D\SIINIS INWATI LLvLy-Td\sleroiddy 1onpoud epHOld - Y\USUBWIIR - SUOS pue SaARIS\SIUBIID\Z



TAON] SANVINSNGD anNiaTing "M'Y 2202 @

T —

‘689° ¥ d Ad 41va [ON N |
SBSEE 14 ‘OOUIDA ‘OSZ XO8 ‘O'd \Su SNOILYATTS dlglzle] = 1_
.o_d__ _..mhzﬁ._:mzoo oNiaTing @u KTBN3SSY d0 1avd WM == L8
wiLli,, 4000 SSv1ou3dd N g5+
o WNojedy, 60vEy “oN ‘3'd SNOS % S3AILS W g &g | |

SO e ve,, O % IPILYOS "4 uUOopukl . D IE
I/&/ o ‘ogw %, 7 m w o | m L m
-~ - %, W7, :A8 pedpdesd sjuswinood :12Naodd 3|8|8|5|8 5

2
7
Vi

|
| |

3
7
>
7
°
Yo
b
1V 2)
\8 A8/
ELEVATION
XX

BN
||
X

BMPZ'LLyL-14\0202) LLpLy-Td\sBuimeld - D\SINIIS ININTTI LLYLY-Td\s|ercsddy 1onpoid BPLOLS - Y\IUSUBWIR - SUOS PuE SBARIS\SIUBID\Z



. Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41471 ELEMENT SERIES\C - Drawings\FL-41471 (2020)\FL-41471.2.dwg

o

1-1/4" MIN.

-

0.15" C-SINK
(TYP)

=0

7
INTERIOR

>

EMB. (TYP.)

RN
v @

/1 "\ HORIZONTAL CROSS SECTION

Noie:

Shown w/ 2X Buck

Outswing shown {Inswing similar)

1. Screws located 8" from each end of astragal plus
four (3) more located @ 23", 37" & 48" down from
the top of the astragal (5 screws total - countersink 3/16).

//

. v S
\ . . > o 7 - o,
L e 4 a s
v v ‘b_ e - s v
- . é’ . y . .
v . z R v .
o go— Sl é
Zo “
e
Y Z
~ o < S
T& =g
4
i
EXTERIOR INTERIOR

/ 2\ VERTICAL CROSS SECTION

5 / Shownw/ 2X Buck

Outswing shown

7

®

40)

/~4 "\ HORIZONTAL CROSS SECTION

W Outswing shown (Inswing similar)

5 ] Shown w/ 2X Buck

inswing shown

INTERIOR

/ ’ g < v " v
g T4 q é o : ‘
B . ‘e § a P 9
: O 4
= N
5 .r:-_—:;? ey g
— R
EXTERIOR Y
7”3\ VERTICAL CROSS SECTION

May 25, 2022

P.O. Box 230, Vairico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

FIBERGLASS DOOR

STEVES & SONS
PART OR ASSEMBLY:

HORIZONTAL & VERTICAL
CROSS SECTIONS (2X BUCK)

PRODUCT:

BY

REVISIONS

NO. DATE

OATE: 4/26/22

scae:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-41471.2

SHEET 5 oF 11

© 2022 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOD 9NIGUng "M'd 2202 O

alililis
*

©186 'ON Ansibey 3Iddd (0N8 XL) SNOLOTS SS0%0 SNOISIAZY
LB16'6G9°CLE "ON auoyd i -
GESEE "4 'ODMIPA ‘OgZ xod 'O°d \Su TYOLLHIA 2 TVINOZIMOH A8 3ivd fON A GlElP W_ 1_
o_v.:_ _.mhzﬁ.smzoo oNIaTINg @u KTENISSY 0 Luvd P e e T
! 141, ¥00a SSV1943dld o B VR S
//owunyw...ﬁzm\m.%\\\ Borsy "o 3'd SNOS % SIAILS MM |
R .N./. YOO, &‘\\ IPIUYDS "4 uOpuUAT A d|g|F & &
~ N . “.:Ag peipdeld sjuewnsog LONA0Hd 3 W 515 %

\\\\ .c.o-o wmzm% c-c‘ hlll \
uoo o.n N
e
Hippwy o
mu.~
(274
i
=
Z
<
v EAY | -]
. O
. re]
, )
< v
. w <4
9 OJ06
Pod =1
o
<’ ) > <
<=2
Q
. S
® w om
: >l5E
; \ o)
O LTI III T
LATIITETIILY & mw
< v Lt
SRl :
oo W_
Ve o ?
. b
@ - . ﬂ _ 7
o ('dAL) "awa
i _ NIW .F/1-1
L x 0z
AN _ m nnv
Y g9
J )
) [
3 7<)
- O
, _ MK» D 3
. et 232
4. — mwg
. o
a =g
) el
. b
s 44 N~
| 5
\/\ @ o
L
<
(8 8]
('dAL) 'ew3
NIW P/ 1-1

INTERIOR

/t
Vv @

i

5D 24,

i "
!
‘ |

® —
@—F——

v
v

1-1/4" MIN.
EMB. (TYP.)

/ 1"\ HORIZONTAL CROSS SECTION
\U Shownw/ 1XBuck
Outswing shown (Inswing similar)

0

. vV. v

b -

SSAUARTARRAVRY
9
v
<
= /44 {119 TIHIEET]
< .
v .
- . <
A S
: v

OB,

BmMpZ L LyLy-14\0202) LLpiy-Td\sBumeld - D\SIIIS INANITI LLvLy-Td\s|enoiddy 1onpoid BPLIOJ - Y\IUSUBWIBG - SUOS PUB SBASIS\SIUSID\Z



CON| SANVYVLINSNDOD oNaung

‘WY 2802 Q

INTERIOR

1-1/4" MIN.

EMB. (TYP.)

) | <
ge
\\‘/V\\

Qutswing shown {Inswing similar)

m HORIZONTAL CROSS SECTION

\U Shown Direct to Masonry

€186 'ON Anssibey 3dgd SNOISIAZY
L6L6659°ELE FON Suotg (AYNOSVA OL 103410) SNOLOIS [ 3Ivd_[ON
GBGLE 14 ‘ODUIDA ‘O¢Z Xog ‘O'd E« mWOIO .~<O:.mm> w% «Q.ZON‘W‘OI ” C‘m = m_bl u “H_
.O_d_:.-mkzﬂuamzoo ONIQTING g TCIGNESSY M0 1avd W & W i
Y] N|Z g =
W 1, ¥00d SSV19¥3gld N 2 3J |~
OB ....,KJ@\QQ\\\\ 80¥Sy ON 3d SNOS % S3A3LS o1& (&g ] _
O30 Yooy 0Q %, PHLeS A uopuA] JEIAM Rl
~ W *, VN :Ag peipdesd sjuewnooq 19Na0Nd SI31813 m M
Iy 1%z wocsthew
e ¥ R S
$ ., eovevoN ;T
\\\\&Q\-oooosooc.nuv.)///
\\\\ / szom /I//
Oy
[+74
o
&
[ b
= O
G
» V9 m e
v s m
. ] 1% 3152
< o)z
DNy Ol5s
4 e
B X ) 3
N ~ Li=5
, J[ag
oo -Dln W.W
OWRERRII= SEE
. N ®
: A 1 1S
NN e s ﬂu
0.‘ fa y 'V m
CQHIEH NI L
T _ ‘ 5
. |
(dAL) “8na AN 0
NIW ¥/ 1-1 . v
~N
o0 {"dAL) "awa
ae \@ NIW ./ 1-1
. os
AP Q
@ ] 2
‘ A0 =
3 /V;:////,..}u?;f/ W\ ,~ = N
AW/ 5
k2 i ﬂ.—um
o s a8
R OMn
» o3
a o Ol o)
. | 3es
S upg
a -..” n.M
o (55
» o) >50
& a4 oe
a4
@ § oD
\/\ t

BmpZ'LIrLy-14\0202) LLFLy-T4\sBumMeIa - D\SINIS ININTTF LLpLy-Td\s[eroiddy 1onpoid BPLIOL - Y\IUSURULIRG - SUOS Pue SIA3IS\SIUBID\Z



TONJ SANVLIINSNDOD 9NIdTHNE "M'd 2202

£186 'ON Asibey Iddad SNOILDIS SNOISIATY

L6L6'6S9'CLR 'ON euoyd F -
GESEE 4 ‘OOLIDA ‘0SZ Xog ‘O'd g SSOHO WOILY3A A8 3lvd_1ON N GlE|P m -~
0_7____ ...m.rzs.._nmzoo sNIgTing g. TIaNISeV H0 1uvd P I e T

\ NiZ 3 ™~
o 4000 SSv19¥3ald N BT

SO Ak& IS, 60PSH "ON "3'd SNOS % SIAILS * al&E|g |
////«.v Aoﬁof %, WPHuYos 4 uopuly i w Sl s &
S "o WA 1A padndely sjuswnoog :110N00dd HEIEHEE &

T20T ‘ST ABN

INTERIOR

A\

/ 2"\ VERTICAL CROSS SECTION

w Outswing Threshold

('dAL) "awW3
NIW b/ 1-1

EXTERIOR
)
O

oz
]
5
&

\\

/1" \ VERTICAL CROSS SECTION

\y Inswing Threshold

_ ('dAL) "awa
NIW ./ 1-1

INTERIOR

Bmpz'LLyLy-19\0202) LLpLy-T4\sBumeld - D\SINIS ININITI LLyLy-Td\sieroiddy 1onpoid BpHOS - Y\IUSUBWIRG - SUOS pue S3ARIS\SIUBHID\Z



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41471 ELEMENT SERIES\C - Drawings\FL-41471 (2020)\FL-41471.2.dwg

FRAME CORNERS ATTACHED w/ (3) 7/1¢" N\
CROWN X 1-1/2" LONG 16 GA. STAPLES & (2) \\\‘& .
4 #7 X 1-5/8" DRYWALL SCREWS @ HEAD & SILL S Q '."
~ N
' | | 2" (TYP.) . ~— §" (TYP.) i =X
e " 3" (TYP.) in ZOim
o — > T oy SEEHINGE 132 Z o,
e I IR N . DETAIL n 2, >
o ? A %/ (TYP.) T . 2,
HEEN y in 4
RN = . o @ c"\‘) ,,”
P X = ) o= P "
(=5 T E 52 SEE LATCH &
0 2XBUCK H Eo DEADBOLT STRIKE
2X BUCK 0 1XBUCK 3 g
- FRAME DIRECT TO N >R
HEAD & JAMBS MASONRY SEE ASTRAGAL [\
\ BOLT STRIKE BOLT o ¢ PLCS
(TYP) HEAD & JAMBS DETALS X .
L (TYp) — -1 T
. S
B o=
U ——
- —t - -l 8% >
33 DOOR SILT =3 l 5
= GE _ ([P _ E
| S % [l | ‘ L
Vi i,. v “\\ Tz
HINGE JAMB ASTRAGAL
MASONRY
2X BUCK ANCHORING FRAME ANCHORING
DIRECTTO
MASONRY
W 1X BUCK
T e 2X BUCK
DIRECTTO DIRECT TO 7 =" o<
MASONRY MASONRY W\ o Hle \®
1X BUCK 1X BUCK O : u
2X BUCK 92X BUCK ASTRAGAL BOLT ﬁ: )
/ HOLE HINGE DETAIL
fo i ; @t ®
o Jo i
7 . . W\ DIRECTTO
/ S - = \ = 5 = =N \ \ MASONRY
o LATCH & DEADBOLT DETAIL 1XBUCK
& ® » ] e
= ]
@ HEAD M M :0 [11@ ° '\\@
ASTRAGAL BOLT STRIKE PLATE DETAILS ASTRAGAL BOLT STRIKE PLATE DETAILS \)
INSWING QUTSWING '
HINGE DETAIL
HARDWARE DETAILS OUTSWING

May 25, 2022

P.O. Box 230, Valrice, FL 33595

’/,E!S‘
‘7
BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

813.658.9197

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
BUCK & FRAME ANCHORING

PRODUCT:

& HARDWARE DETAILS

BY

NOJ DATE

REVISIONS

DATE: 4,/26/22

scAle:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41471.2

SHEET _9 ofF 11

© 2022 R.W. BUILDING CONSULTANTS INC.



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41471 ELEMENT SERIES\C - Drawings\FL-41471 (2020)\FL-41471.2.dwg

1/2"
. b= .

%XE HOT MELT BUTYL GLASS BITE

S&

T, 2"MAX.DLO. "

39 WIDTH EXTERIOR 1/2" O.A. GLASS THK.
— 0

1/8" TEMPERED GLASS

AR SPACE
1/8" TEMPERED GLASS

”__ :% o

INTERIOR
1/4 LITE ALUM SPACER
w/ FALSE MUNTINS #8 X 1-1/2" PH SMS (HI-LO THREAD)
(10 TOTAL)
@ GLAZING DETAIL
ODL CRAFTSMAN LITE FRAME
HP POLYPROPYLENE
20.75"MAX.D.LO. . 20.75' MAX. D.LO. | ,
WIDTH WIDTH
o o
- —
o5 of
38 53
ST ¥
1/2 UTE
172 LITE w/ MICROBLINDS
HOT MELT BUTYL 9/16"
HOT MELT BUTYL " GLASS BITE
. 9né
GLASS BITE 1"O.A. GLASS THK.
EXTERIOR 1" O.A. GLASS THK. EXTERIOR
A r _.— 1/8" TEMPERED GLASS S i /” TEMPERED GLASS
R BRI BLIND INSERT
S R £~ AR SPACE ® s G‘/
MR [ S~ 1/8" TEMPERED GLASS AT 1 “sm SPACE
INTERIOR INTERIOR 1/8" TEMPERED GLASS
STEEL INTERCEPT SPACER
#8 X 1-1/2" PPH SMS #8 X 1-1/2" PPH SMS ALUMINUM SPACER
(HI-LO THREAD) (HI-LO THREAD) w/ DESICCANT

(14 TOTAL) (14 TOTAL)
G2 GLAZING DETAIL GLAZING DETAIL
ODL LITE FRAME ODL LITE FRAME
EVOLVE (CLEAR) EVOLVE (w/ BLINDS)

175" —={

N

Dﬁ

17 ]
— 175" —=|

l~‘ 1.56"

i

.

e 1.75" —=]

(AN
\\\\ x

1.42" . S\\\Q&
S Sy
T “( ’,,,// o

TKI PRODUCTS LITE FRAME  ODL LITE FRAME (EVOLVE) ODL LITE FRAME {CRAFTSMAN)

8.1"MAX.D.L.O.
HEIGHT

e

€

—==

vl

8.9" MAX.D.L.O.

EXTERIOR

INTERIOR

20.8" MAX.
- D.LO.

-

WIDTH

CAMBER TOP

HOT MELT BUTYL

¥74

#8 X 1-3/8" PH SM$

{12 TOTAL OVAL LITE)
(12 TOTAL CAMBER TOP)

{6 TOTAL FAN LITE)

13"MAX.D.LO.
WIDTH
e S
i
T V I
=
> O
7 <€ i
=2+
@ 5 G
wod
= a
20.6" MAX. J
- DLO.
WIDTH
FAN LITE
— 3/8"
GLASS BITE
1" OVERALL GLASS THK.
/1 /8" TEMPERED GLASS
| DECORATIVE INSERT
t \QAIR SPACE
1/8" TEMPERED GLASS
SWIGGLE SPACER

. GLAZING DETAIL
TKI PRODUCTS LITE FRAME

3/4 OVAL

May 25, 2022

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS,
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

FIBERGLASS DOOR
DOOR LITE FRAME &
GLAZING DETAILS

STEVES & SONS
PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NO) DATE

DATE: 4/26/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41471.2

sHeer 10 ofF 11

© 2022 R.W. BUILDING CONSULTANTS INGC.



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41471 ELEMENT SERIES\C - Drawings\FL-41471 (2020)\FL-41471.2.dwg

1.25"

4.56"

0.75"

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL

A |1XBUCK (G >= 0.42) WOOD
B | 2X BUCK (G >=0.42) WOOD
C | 1/4"MAX. SHIM SPACE ;

D | 1/4"X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
£ | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TOACT |~ et

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F | 1/4"X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G | 3/16"X 3-1/4" PFH TW CONCRETE SCREW STEEL
H | 3/16" X 3-3/4" PFH TW CONCRETE SCREW STEEL
J | #10X 3" PFH WOOD SCREW STEEL
L | #10X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M| 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P |1/4"X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

1 | WOOD JAMB WOOD
7 | WEATHERSTRIP FOAM
8 | SWEEP VINYL
9 | 4'X 4 HINGE STEEL
11| #9 X 3/4" PFH WOOD SCREW STEEL
12| LATCH STRIKE PLATE STEEL
13| DEADBOLT STRIKE PLATE STEEL
14 | INSWING THRESHOLD ALUM/COMP
15| OUTSWING THRESHOLD ALUM/COMP
25 | #8 X 2-1/2" PFH WOOD SCREW STEEL
33 | #10 X 2-1/2" PFH WOOD SCREW STEEL
37 | ASTRAGAL STRIKE PLATE STEEL
38 | ALUMINUM ASTRAGAL ALUM
39 | #8X 2 FH SMS STEEL
40 | DOOR PANEL -

41 | #7 X 1-5/8" DRYWALL SCREW STEEL
42 | #8X2-1/2"FH SMS STEEL

i\%

1.44"

| 2.15"

WOOD JAMB
FINGER JOINT PINE

2.79"
rmeu>

]
]

0.06"

ALUMINUM BOLT RETAINER
9"LONG

STEEL BOLT (5/16" @)
HEAD: 2-1/4" LONG
SILL: 2-1/4" LONG

38 ALUMINUM ASTRAGAL
Columbia 350

14 INSWING THRESHOLD

5.62"

Columbia

—

~ 138" —

L-—— 0.65"

8777

CONCRETE ANCHOR NOTES:

2.44" j

4.6 !T

15 QUTSWING THRESHOLD
Columbia

. Concrete anchor locations at the comers may be adjusted to maintain the min.

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
. Concretfe anchor table:

May 25, 2022

a0
......

.
o ®
ooooo

-
-
-

/
7
% 0
., /’ o
p 0
AN
:<:""‘Jl\
OS¢y .o
NSz 3828
SPT 2]
> J080o
N 2> a4z
&N n .0
N Z oo
\\ O M ]
3 QN 2
o, 0 o
v O O Xz o
o Z zZ 9
§ Ea 50
a £0 ] .CUJ
P8y 592G
o T maaw
8 b,
€ 0
& co §
£33
g Sul
o 2o

STEVES & SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

ANCHOR

NOJ DATE

REVISIONS

TTW BUILDEX

DATE: 4,/26/22

wood screws to prevent the splitting of wood.

1-1/2 ,
TAPCON® g SeALE: N Tt-'.ej
Dew Au' " N " . DWG. BY:
uLTRACONS | V4 1-1/4 1 4 ok g LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL-41471.2

SHEET 171 oF 11

© 2022 R.W. BUILDING CONSULTANTS INC.



